FMEET 7 T 4 LY —DIEHERITYT, EICE)ID i
BBEICE DL —RZEFBE LTEASN. ER '

J"y = [T o B 199139 b..b.»
ERDEFEEREBOREICKRILIBEE T, e r ’::;::::;:;.:::::;:::,::.;E:: v
s v r b > p 43 4 3 b
HEPAZ « L5 —ODFIRAE LTEEMTT . SRR
4 4 4.4
it
REET 7’ T 1)L R
— b b 3 4 4.4
BE_L /). /A SHEEEHHERE
| ':t::>»’»,"v:" BpbRpRb !
I: ll —RD U SRR HEEREHREEES
»’v’ :":: ID":: 144 4
2 4 . 3 1]
65% 0.7um SRR EEEREEEE
O . 3 9 13143 9 133 4
u.l./z 37 rd 1444997919444 D:”.; 4
55% 0.4um TLEATIIRER I
3 3 2 1 4 113
-------------------------------- folubtuiniein it 14.4.4 11313 ',.’.,'b', 114434
65% (EEELREE) ";';":' RERERRERERIRERAY
34 b
'_,r' 4 ]
90% 0.7um TR HIHHS ’:g
n‘ 7 r3 r" 4 4 «
80% O0.4um | M= i HHEEIREELEES
———————————————————————————————— ~—————————————— 9 ,
90% CYEiELIESEE)

~ Vo) o MAKETSAT 7 A )\ —H#E EfFERR=EE - 80T
s Aa s )L —5— @ PILSZOL EEEAEE | 100%RH (BEE=E)
Y — )b #: RUFPIR

J LU — L:&Ww
HR 5w ko000 YRRYY (KRBT

. B S 2SR S o A mm -

%&*ﬁ*& B m /min Pa = g I=] g Sk
RD-28-65H 28 98 305 | 810 | 292 5.1
RD-28-65V 28 98 610 305 292 5.1
RD-28-90H 28 137 305 | 610 | 292 5.1
RD-28-90V 28 137 610 305 292 5.1
RD-56-65F 56 98 610 610 292 8.0
RD-56-90F 56 137 610 610 292 8.0

HMFEOS%DRDEERUFAIRET T -

SR —— EER
150

N ) /
& §o)
QS/ V
100

z / ~
=
i /
)
Pa ~
50
0 10 20 30 40 50 60

E = m’/min




